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- 5915 IR32 NIPDE 9TV IR AW RO
For the name which brings him to lashes does not bring him, etc.

Overview

X7 °27 ruled that 2m7 0*7v, who testified (falsely) that someone owes another
money, the 1"¥ receive mpYn and must pay the accused the money. The reason
given is that the P05 which causes the 1"V to receive mpon is different from the
7109 which requires them to pay. There are various explanations as to the meaning
of this statement.

- NP 2NN NN MPYM PNNT OIVN ‘0093 Y
“''w explained the reason why »n"9 maintains that Pn%wn1 112, is that since their
obligation to pay money, and the cause of them receiving mp»» is derived from

two separate 2210D; therefore they receive both punishments. The punishment of -
- 2ot YWD 15 ONYUN PP ZNivn X9 MpYn

mpo» is derived from mayn X% (do not testify falsely), and their obligation to pay
money is derived from, ‘and you shall do to them as they conspired’ —

Mmoo disagrees with "ws:*
- Sa5wm NPT NYIY BYYN NPYIY NP THA 235N 1A INT 1Y YT NP

And there is a difficulty with this interpretation, for if it would be written in one
mop that they should be flogged and pay, they certainly would be 2w P!

mdoIN attempts to justify >"wIo:
= INIP YINN INR MPINI PNHNT DIYN DIVIPN WINPT WY Y RY 1111

However perhaps one can clarify according to >''w9p that he meant, since %

and npo» are derived from two separate 2°p185 -
- ANND DY) 591235 1NN PP YAV 1Y PPN

We cannot totally ignore one o2 and fulfill the other -

' Xow "
% 3,2 (n°) nmw. For transgressing a wyn X9, one generally receives Npon.
 v,v0 (@wow) o127, They wanted the (falsely) accused to pay money, therefore they must pay him that same
amount of money.
* The inference from >"w12 (that they are 27wn 7p12, because their two punishments are derived from two separate
o°p109), indicates that if both were derived from one 105 they would not be 1n2wm P12 (but rather only one of
them; either nPn or 1nn).
> If it were written in one 109 that would surely indicate that the 77N wants both punishments to be meted out. Why
does >"wn say that Pn7wm P17 because it is written in two separate 0°p109? Logic dictates otherwise.
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- DN YNNI I ONYYIIN DNV OONI 1N ON YaN

However, if the n1p%71 171 21°1 would come from the 2109 of 2%t MwWRD ¥ answ -
= INYN DY ¥4 OV NIV NN 5Y 11I9NY P9

For instance, that the 1"V testified about someone that he was 2''wxy on his
wife, in which case -

- 71’)37\’))31 PPV PN 65‘\1‘,75}:1 1991 129N PN
They would be coming to obligate the accused for %% and nip>», the ruling then
will be that they are not Pnywn Ppib —

mooin disagrees with this inference as well:
= N3 ORI MPYNY 19190 19390 1N XDV 92101 XDT PHY 13939Y N9 PN)Y

And the >''1 does not agree to this inference, for it is not logical that they should

not be liable for 1% and np»» in such a case -
- S0mW 129915 189 15

Since they wanted to obligate the accused in both of them —

mooin offers his interpretation:
= 9915 79N MY INANN OWN RHY WIHDY PNY 13929D NINIY

And the "' prefers to explain the statement of '3 nI1o% 7% X217 WA KOW -
- MYPYNRY 103 13N KXY PMYYUNAY 319

To mean that the payment requirement was not written near the nmpb»

requirement -
= 02T YYNI 1 DNYYY NIY DN NIYH XY MKY PIVS ININA 2N 7°N ONT

For if the payment requirement based on on7 2wX2, would be written in the same
mop as the mpYn requirement, meaning it would say miyn X% (do not testify

falsely) and if you did testify falsely, then ant 9wx> ¥ anwy -
- 1YY AP X9 TNYYY D1IY ING 199 90T NIINR 1IN INT IN

® A 2"wxm is 271 both 1n and nIPon. In this case both the 17 211 and the Mp5n 210 for the 1"V are a result of WX
ont (not from separate 0°p10d).
7 In this case we are not nullifying any p109; we are (partially) compliant with the rule of ont wx> ¥ amwy. We do
not give them both Mmpom w1 since there is only one 211, namely the P105 of onT TWwXd. One P05 cannot generate
two 2°211. The inference from >"w should not be (as NMooIn assumed) that if the 770 would have written both 7?12
0%wn in one P05 they would not be liable for both (for in that case they would surely be an7wm 11?), but rather
the inference is that if the obligation for mp?m 1n would be from one P (of ol WK 12 an*wy, as MOOIN
explained) then »n"9 would agree that nowm 119 PR.
® This argument is valid even in the face of the limitation of 1YW 73 (MPYWA '2 @Wn 121 70X °XY); since they are
being punished for one act, in which they wished to make the accused liable for both mpm 11an, therefore it is
fitting that they too should be liable for the same punishment. See ‘Thinking it over’.
? A wy% proan X% means when the 770 states a prohibition and informs us how to rectify it. 911 is one example; the
77N teaches 712 7Y 1M1 17NN XY (one may not leave over the 127p after the allotted time); this is the 7, but it is
2

TosfosInEnglish.com



XOW 11"7 'oIn 2,2% M5 .7"'02

Then we would certainly assume that 7wyn 8% (of 7vn XY) is a mwy® pnow NS,

and therefore one would not be flogged for transgressing this x5 -
- AUYY PP NN XY Nt AT PINT AN2Y ANy Yax

However now that the rule of ant 2wX> anwi (the money payment) is written far

from mwn XS (the Mmpon 21°0), therefore the X% of 71wn XY was not 7P» Pn%, and
therefore they receive both nipom nan.!!

mooIn anticipates a difficulty:
= VYYD PN DD BPYNT NDINT INDD 91T XD

And this is not like that 8% of robbing, which is considered as a 72> pn7 X7 -
= (x,x0p PN PN MYYAI (x,10 97 TINT NN 7992

In the last P22 of mM>% noon and in P57 Mvw PO -
- Poynan 897 IND YEN 2909 XY PA9rtan AN WY DUYT 23 Yy 9N

Even though the 7wy of 77137 nX 2owm (and he shall return the stolen object)

is not written near the X% of 10 8% (do not rob), so how can it be considered a K>
qwyYL P —

mooIn responds:
- %15 nnmm NI AP 29D VYD D% XD TN BY INT ONnY
For there by 7771 perforce it is certainly 7wy pnsi, since he uproots and

removes the 79913 from his possession and returns it to the owner -
- 7IUN NYTINDD 1P 1IN DN TYUNI 1Y ONOUMT XIP YaN

However, the 105 of an»t 2wx> ¥ anwi does not uproot and remove the XY of

SN RY -
= annw 215 5y NN IMTY 9P¥) 19N DNT TUNID 19 PUIY PIRY 21> Sy

For by implementing the punishment of ant 9wr>, his false testimony was not

uprooted, rather it was uprooted through the 71?177 process, but not through the 7wy -
=99 790 PINN AN XYY 1195 NUYY PN 1YY 192UN XY 7951

Therefore, we do not consider the > of 71vn XY as a wWY® pPnvw XY, since the
nwy of Y2 an>wy is not written immediately after the x5 of mvn x5.

mwy? pnd. For the 770 continues 77Wwn WX 9913 79 an M3, which is the 7wy to rectify the 5. The rule is that one
does not receive Mpon for a TWYY pRIW XY (since it is not similar to the X7 of W72 MW 21070 KY).
109390 &Y is in 10° ' (see footnote # 2) and T TWRD 12 ANWYY is in D°WOW D (see footnote # 3).
' According to the "3 the meaning of 121 W*2n71 oW XY is that the > (of mwn XY) is not together with the 7wy of
ot WRD 17 anwn, rather they are in different places therefore it cannot be considered a qwy? pnaw W>.
12 35,7 X,
B30 (@w11p) X
" It is factually 7wy pn2, therefore it does not matter the proximity of the 7wy to the 7wyn X.
' The falseness of their testimony becomes apparent at the point of 7%, but not when they are punished.
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mooin offers an alternate explanation:
- MY NY 13907 MM 1Y INANN BYN XYY W90 Cwnq1m Nnbw 13539 29

And w''>17n anbw ' explained that nisn S79% IX°2%7 2wn X9W, meaning the

IR? of ;73N KD, this WY -
= PMYYN WNYY NININ NN NI ININ YWITD POV 19D INAN
Does not cause the payment, meaning it does not come to be a warning to
punish by obligating a payment, therefore it is available to be mpbn 2 -
- 901N oya NY PRt U mana 1329879
As it states in n12» 'on that monetary payment does not require a warning -

- 195019 NYY INT9 1N SN 991 D1t AWNRIY N9NIR 1Y NPAY N 2971
And additionally, »''% derives the ‘warning’ for 2%t “wx> (that one may not
testify falsely) from the 2105 of 129975 891 1879 Wwnws [aRwam] (PR H29) -

- (3,797 MNT NIP P92 19INTI
As the X713 states in the first P92 of n12» '0n, so we do not need 71N X2 as a 77X for
money payments as a result of the ant wy> -
= 19919 NINIRD NIYN XY 7298 7PN ONY
for if ayn X% would be necessary for a monetary warning -
17913 291959 195 199U YD RY INY THIT 1Y NPIY 15N XY IN
Then he would not be 577" for transgressing mvn X9, since from one 8» of &>
mwvn, we would not punish him with 1272 and np%», however now that 7wn X% does
not teach us anything regarding 1% (only mp9n), we can punish them with mpY» from 7N R
and 1n from ont 9wRD. The meaning of MpPYn *1°% WA oW X9, means that the WY of 71vn X7
(which causes the mpYn 21°17) has nothing to do with their 177 211 on account of 2T WK (either
because 171 does not require a 777, or that the 777X is from 19701 891, but not from 71vn X?).

mooin offers proof for his contention:
- 713 MIPHN 29NY 919D YIND 1IN PPN PNT NINNR MNT XNP P93 Zynwnia)

' This is (most probably) the city of Troyes (France), where (incidentally?!) >"w1 (>prx> sabw ') also lived.
17 See Tp1» 1"7 8,7 N1 'O (see w"wM).
'8 Generally, all types of corporal punishment in the 77, like 7™ MpPY7, require a warning in the 770, meaning
that the 7710 must explicitly state that one is not permitted to do this act, however regarding monetary reparations
there is no need to give a warning. There is no X7 that one is not permitted to damage his friend’s property, and
nevertheless if he damages, he is required to pay.
' noon is adding that even if we maintain that 1mn» requires an 777X, nevertheless the 717X here for their monetary
payment based on ont WK is not from 71wn X2 but from another P1os.
2059 (o°v2w) 0»27. This is the p10d immediately following the P109 of 1PnR? NMWyH ot WK 2 anwy. See footnote
#27.
! We would have assumed that the W9 of 7190 XY is ‘taken’ to provide an 777X for ot WK, the monetary payment,
but not for npon.
22 The bracketed area (until the end) is an addition from 022> mooN.
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As it seems in the first 775 of m>» noon,” regarding that 7aw» which taught,* if the

Do 7Y said, ‘we are testifying on that person that he is liable for forty lashes™, the

rule is -
=713 NYN YD 1PN 99N 021290 NIV N9’ /XY 019 TYUNI ONOUMIN /N OINNY '0’1717

The 1"y are flogged eighty times, one set of nP%n because of 2%t wK> 7 anywwy, and
another set of Mpon» for transgressing the X7 of Ipw 7v 7¥72 7awn KY, this is the opinion

of 7°&»n ", but the 2"»>r say they are only flogged once for onr "wx> an>wn. The Xn3 there

asks -
- Pt 021y HINIRY 179 NOYASM 195 1Ay INMI NIPN KY NN 1329

And what do the 112 do with this '71vn K»', the X713 answers, ‘they need the 71vn X? as

a warning for "'y -
- 2891292 YIS 99 1Y XPO3 NANIR NI 2

And »''= derives the 777138 for 1"V from X2 929, etc.

- 10510 590 155 199Uy 1IN RY NIPN X9N NININY NIPINN KD INY INT ¥yIWN
It seems (both according to n"9 and the 3127) if not for the other o5 (of 19°01 &91) which
is the 777718, we would not have punished them two n1p®», based on the 73vn K alone —

mooIN responds to an anticipated difficulty:
= 1m0 NYNIRY P98 NY 1Iyn NYT 23 5Y 9N )99

And according to the 3329, even though that 7ayn X is not required for a monetary

warning, so why are they not Y2 (for mwn X?) and Pnown (for ont WR3) -
- 2ynywA 519 DIVN BYYNM NP IPN BIPNI YN

Nevertheless, they are not 25w» 71219, on account of the 7105 of ynyw= 7> -

Baq
Hx.
 He transgressed a 9, which requires that he receive nMpo
*® The 7771x for the Mpon punishment of ant TWKD 2 an wy, is the WY of Wpw 7v w12 mwn &Y. Therefore, since X9
7N is the 777X to give the MpHn for ont Mwr> (they testified falsely that he is mpHn 2™nn), it cannot be used again
as a WY to receive Mpon for transgressing this WX?.
7 The pioo the X3 states there, is 727P2 M7 Y17 1272 Tiv NIy 1295 KDY ) wWHY» 0w (in 2,0° [Dwow] 027).
This 109 is written at the end of o¥nY 0>7v nwId, and the NWYY 19901 R91 is the 73771 for 1'v.
2 Therefore, since the myn XY is not needed for the NPY» of ont WK (we know it from 19°07 X9), it can be utilized
to teach us that they receive an addition mpon for transgressing mvn X7, besides the npon for onr wK>.
* They both agree that if 73vn XY is used as a 777X for Dnr MWK it cannot be used as a cause to give an additional
mpon, for violating myn X7. However now that we know the 777X for ont awrd (for mpon) from 19°07 891, we can
derive an additional np%n from 71wn X% (according to »"7). This is concerning NMp?m NP2, The same would be
regarding mpm 1mn, which nwon was discussing previously. The 71yn X2 cannot be utilized both as a 777K for
71 ant WwRS (if 1n 20 would require an 777R), and for a mpon 21n.
3 mooin is referring to the X of that 71wn (see footnote # 24), where »"- maintains that if the 1"V testified that he
owes money, the rule is P17 (for mwvn X?) and Pn7wn (for ant wxd). However, the 1121 disagree.
*! See footnote # 18. The only reason they do not receive Mpo for 71vn XY is because it is needed MpYn NI7IRY, but
by the case of money no 777X is needed, so 71vn R can be utilized for a mpon 2rn.
2 ynywA is singular; we expound it to mean NPYWA 2 QWA 27MA AN XY 177N ANK NAX 7YY DWW
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- Zont YUND X9997 AWIIN 13 NIAY DITIYNYA NIN 19295 99 N9
And according to the 3329 the only time the 1"V receive nip®» is when they testify
(falsely) that he is the son of a w193, in which case there is no 2»7 wWN> —

m»doIN responds to an anticipated difficulty:
= 157 7153 NP NINIRG 11937 D PHYEn 13 PRY IND NIYN NYT 22 HY 9N

And even though the X% of myn K® is a mwyn 12 PRW K>, and additionally it is stated

(even) for cases where it is utilized as a warning for capital punishment, so why do they
receive mphn?!

mooINn responds:
:[¥WaN M7 12 BN *nvmin 19T NP 29 KON

Here by 1"y it is different, for the 105 of yw=77 M1557 33 &R, revealed to us that they are
flogged, regardless that it is a mwy» 12 PRY K2 and 7"°2 N NIAIRD 1003,

Summary
121 IR°2%7 oW XY means; a) they are derived from two separate 2’109 (>"w); b)

they are not written together so it is not a 7wy? Pn°1;71 Y (°"7); and ¢) 7Ivn XY is not
utilized as a 777X for onT AWK (V"7 W),

Thinking it over
moon writes that if they were 1"V on a 7"wxn they would certainly be 2112 both

mpom n.”” However, we find in a case where the husband brought o°7v that his
wife was 1nnn 71 (which would cause her to be killed and lose her (1727) 72102),
and the 07y were an7, the rule is that they are killed (for ant qwx2) but they are not
required to pay her 721n2. Seemingly that case is similar to 7"wx, where one N737
M7y obligated them for two punishments, and yet they are only liable for one, so
why should 2"wxn be different?!>®

> We cannot punish the 1"y by making them a 7w173 72 (meaning a %2m), even if they are 2°372. See X,2 man. In this
case the m1wvn X7 is not required as a 71717 for onT MWK (since we do not implement the o7 TWwKD), therefore the X7
7Ivn remains as an independent > for which there is a NP 2.
** One is MpYn 21 for transgressing a WY, provided that it is similar to the W% of W72 7w @ORN X (not to muzzle
an ox while it is threshing), which is written immediately after the 7w of MpPYn (see 7-8,75 [X¥n] 0°127). Therefore,
in order to receive nPYn it must be a AwWYn 12 WW WY, just like the X7 of 7»°0on (where he is muzzling the ox).
Testifying (speaking) is not considered a wyn.
¥ If by transgressing a X7 it is possible for one to receive in"» (like naw 91>1), then that W will never cause a 2vn
mpon. Here too the W7 of 711yn X can bring a fin 21n, if, for instance the 1" testified the someone was naw %21, so
the 1"y will receive nin*, making 71vn R? a 72 N NATIRY 100w XY and therefore 1°7v P17 PX.
% See 17 1"7 '010 on the 'k Ty TIE footnote # 16.
37 Footnote # 8.
38 See R XY .
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